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QUESTION 1

Which TWO of the following functional areas of the architecture would be described in the applications layer of a
systems architecture?

A. Workflow management
B. Policy management

C. Organizational tree

D. Email notification

E. Forms design

Correct Answer: BC

QUESTION 2

Which trace settings would offer the most information when debugging a reconciliation failure?
A. Remote services, policy and script at DEBUG_MAX

B. Remoteservices and policy at DEBUG_MAX

C. Logger.trace.level at DEBUG_MAX

D. Remoteservices at DEBUG_MAX

Correct Answer: C

QUESTION 3

A user is a member of two ISIM groups. Each group is a member in two separate Access Control Items (ACls), ACI1
and ACI2 on Static Organizational Roles. Each group also has a separate Ul View associated with it, called Viewl and
View2.

Which statement is correct in describing the access granted or denied to the user?

A. The user will be able to create a static organizational role via the Java API if access to Create operation is granted in
ACM and ACI2, and if Viewl or View2 allow access to the Manage Roles task.

B. The user will have access to create a static organizational role if its granted by ACI1 regardless of whether ACI2
grants, denies or provides none access to the Create operation.

C. The user has a view of only the common tasks provided by both Viewl and View?2 in the ISIM Admin User Interface
or ISIM Self Service User Interface.

D. The user has a merged view of all the tasks provided by Viewl and View2 in the ISIM Admin User Interface or ISIM
Self Service User Interface,
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Correct Answer: C

QUESTION 4

Life cycle rule is triggered automatically by which event?

A. A schedule and matching criteria evaluated against an entity.
B. External event.

C. Schedule only.

D. Internal event.

Correct Answer: C

QUESTION 5

To recertify accounts and groups with a recertification policy, which target type must be chosen?

A. Accounts and Entitlements

B. Accesses

C. Accounts

D. Users

Correct Answer: A

Reference:
http://wwwO1.ibm.com/support/knowledgecenter/SSRMWJ_7.0.0/com.ibm.isim.doc_7.0/admin/cpt/cpt_ic_

admin_recertpolicy.htm
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